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Ideals for irreducible component#ﬂ)f Xpar

I = w4 u® 4+ fu+1)

* 1 irreducible components of dim¢ = 0, with total 29 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LI¥=(u*4+u*®+.--+u+1)

(i) Arc colorings
0
a2 = u
ag —
as =
a; =

asz =

w? —2u" +ut 4 2ut —u
—u® 4+3u" —3ud +u

w'? — 300 + 308 +2u8 —dut +u+1
—u'? + 4u'0 — 6ud + 2u8 + 3u?t — 2u?

u26+7u24+~~+u2+1>

ay = ’LL26—8U24+"'—2'LL4—'LL2
wl” — et + T — At — w207 4+ 20 —
ag = \ —9 4 5417 — 12415 + 1563 — 90t — 3w + 1007 — 8u® +u® + u
wl — 4’ + Tut? — 4ot — o + 207 + 203 —
ag = \ —u!9 4+ 5017 — 1201 + 15613 — 9u!t — 30 + 10u” — 8uP + ud + u
(ii) Obstruction class = —1

(iii) Cusp Shapes = —4u?® + 36u?® + 4u?® — 148u2* — 32123 + 340u?? + 116u?! —
420u*0 — 228u'? 4 116u'® + 220u'” + 4440 + 16u'® — 652u'* — 284u'? + 236u'? +
268ut! + 244u1® — 20u°® — 260u® — 116u” + 36u’ + 60u’® + 44u* + 4u® — 12u? — 4u — 10



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
€1,C5 P+t ]
C2 u? 1T 4 —u 1
C3,Cy4,C8 u29_’_u28+_._+3u+1
C9
Cg,C7,C10 u29+3u28_~_”.+13u+3
C11




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
1, s y29_17y28_~_._._y_1
Co y29_9y28++15y_1
C3,C4,C8 y29+31y28+_y_1
Cg
Ce6, C7, C10 v +35y8 . 419y — 9
C11




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y=1CS)

Cusp shape

u = —0.044216 4 0.8912561

—1.19736 — 5.413621

—1.89283 + 2.857391

u = —0.044216 — 0.8912561

—1.19736 + 5.413621

—1.89283 — 2.857391

u = 0.014032 4 0.8919511

—7.81267 4 2.241041

—5.36878 — 2.980571

u = 0.014032 — 0.8919511

—7.81267 — 2.241041

—5.36878 + 2.980571

u = —0.734005 + 0.4854961

7.86536 + 2.023951

2.95308 — 3.877731

u = —0.734005 — 0.4854961

7.86536 — 2.023951

2.95308 + 3.877731

u = —1.070720 + 0.3306121

—3.23942 4- 1.603341

—9.34804 — 0.466231

u = —1.070720 — 0.3306121

—3.23942 — 1.603341

—9.34804 + 0.466231

= 1.107090 + 0.2196781

2.42526 + 0.351951

—5.70450 + 0.249781

u = 1.107090 — 0.2196781

2.42526 — 0.351951

—5.70450 — 0.249781

= 1.062230 + 0.4176561

—2.59554 — 4.951091

—6.08826 + 8.602411

u= 1.062230 — 0.4176561

—2.59554 + 4.951091

—6.08826 — 8.602411

u = —1.048690 + 0.4831361

4.31921 + 7.007441

—2.00654 — 7.015651

u = —1.048690 — 0.4831361

4.31921 — 7.007441

—2.00654 + 7.015651

u = 0.752202 + 0.3270021

0.76241 — 1.576011

1.98704 + 6.029611

u = 0.752202 — 0.3270021

0.76241 4 1.576011

1.98704 — 6.029611

u = —0.816521

—1.09235

—10.5770

u = —0.294384 4 0.6109107

6.42555 — 2.747081

1.52354 + 2.706491

u = —0.294384 — 0.6109107

6.42555 + 2.747081

1.52354 — 2.706491

u = 1.266100 4+ 0.4428691

—5.20867 + 0.713701

—5.45234 + 0.153301

u= 1.266100 — 0.4428691

—5.20867 — 0.713701

—5.45234 — 0.153301

u = —1.262540 4 0.4611261

—11.70220 4 2.557911

—8.74471 — 0.178991

u = —1.262540 — 0.4611261

—11.70220 — 2.557911

—8.74471 4 0.178991

u = —1.251660 + 0.4910431

—4.85401 + 10.367101

—4.91919 — 5.835971

u = —1.251660 — 0.4910431

—4.85401 — 10.367101

—4.91919 + 5.835971

= 1.257970 + 0.4763051

—11.59010 — 7.120141

—8.39556 + 5.983721

u= 1.257970 — 0.4763051

—11.59010 + 7.120141

—8.39556 — 5.983721

= 0.154862 + 0.4990961

—0.193043 + 1.2597001

—2.25459 — 5.579281

u = 0.154862 — 0.4990961

—0.193043 — 1.2597001

—2.25459 + 5.579281




II. u-Polynomials

Crossings u-Polynomials at each crossing
c1,Cs w4+ a1
C2 u® 1T 4 a1
C3,C4,C8 u29_|_u28_~_”.+3u_|_1
Co
C6,C7,C10 u? +3u8 4. +13u+3
C11




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
C1,Cs y29717y28+~-~7y—1
€2 y?? — 9y 4. 15y — 1
€3,C4,C8 v 431y —y—1
Co
C6,C7,C10 y29+35y28+___+19y_9
C11




